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423 AFNTIL 0.0005 0.0003 0.0008
424 | ZFN=AIVFFH T F—h
425 AV TaWNT
426 HNERTTL
427 [JINNYL 135 76 211
428 [T )TIINT 26 89 115
429 NBALTEUAT )L 124 124
430 A R¥HALT 2.5 2.5
431 |7V ¥ AbRE Y 509 509
432 [7IRGA
433 | F1—/ 4
434 [A¥HYIV 0.80 0.80
435 [EUS /Ry AF )L 252 252
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
438 [ AFNFTHLL 7.9 2,824 0.29 0.12 2,833
439 [3—AFAEVTL
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MREZR 16 HEHTERI - 1 Gk A BRI O Pk H e A (RS0 - 51 LIR) (1. S RBEFR 2 Lo 90 7 DO 32 Y)0 LT~ 23, 2 S BEREYIE It 25 |

XIGAL T E AEMPEH G (kg/ 4, X AA XLV HHidme-TEQ/4F)
i 1 2 3 1 5 6 7 8 9 10 11 12 13 4 5 | 16 | 17 18 19 20 21 ﬁi)%ﬁ %%)%ﬁ
| WA, HEHRD | e | g | TR RV AL B | W= im0 ~ FREE .. | B | % | AVUR | A | SEs ks K - it

& wEAoT | g o g me RPT TR BIRT SO0 T aew | Sl T | | P i oom | | e PIE B

1—AF ) —1—Txz=)L=F )L =bRa~
10 | T 0.002 0.005 0.007
441 2— (1 —AFLTEEN) —4, 6—V=Fr

Jx/)—)v
442 [ ATa=L 171 171
443 [ R/ 495 495
444 M) 7aX L ARREY 25 25
445 | JLIRLIAF L 244 244
446 4, 4’ —AFLLUT =0
g7 ATLVER@ 1o rmaFu L) =Y

AT F—h
448 772”:]\‘“(4' 1=Z=2b) =UAYy 20 0.068 20
449 [T ATAT 7
450 [EVTFINT 106 106
451 |2—ARFY —B5—AF AT =Y
452 2= ANHT IS F TS = 0.22 0.22
453 [EVT T ROZDLEY 1.1 113 1.9 116
454 |2— CEAKY I PFAH) XU S F T — )L 0.029 0.029
155 |EARYL 8.0 24 32
456 DAALT A=A 110 110
457 [PV RA 358 358
458 [DAMBERIA (2 —=F L~FT L)
459 WARENA(2— Zanx L)
460 [ ABEN RV 0.84 0.84
461 WABRN) 7 ==L 5.2 5.7 11
462 WABEN— )V~ N— T F )V

& z 347,030 146,814 1,729] 8,094 240,356/ 175,968 287,330 _ 48,930 19,595 7,058 535,584 4,776 57,160 _ 10,529] 1,651 345 544] 84,155 244] 24,007 56,837 1,558 1,728 2,061,779
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